
 

Instruction manual
Montage handleiding
Montageanleitung
Manuel d’instruction

PS4427825 / PS4427830
Sliding glass doors
Glazen schuifwand
Glasschiebewand

Paroi coulissante en verre



Pre-Assembly Checklist:
Before starting the assembly, please ensure:
- All listed parts are supplied and undamaged.
- Report any missing parts within 14 days of delivery AND before assembly!
- For reporting missing parts, please contact your point of sale (store or website) where your product was purchased.
- Do not discard the packaging without confirming the proper functioning of the product.

Montage voorbereiding/ Controlelijst:
Voordat u met de montage begint, zorg ervoor dat:
- Alle vermelde onderdelen zijn geleverd en onbeschadigd zijn.
- Meld ontbrekende onderdelen binnen 14 dagen na levering EN voor de montage!
- Voor het melden van ontbrekende onderdelen, neem contact op met het verkooppunt (winkel of website) waar uw product is gekocht.
- Gooi de verpakking niet weg zonder de goede werking van het product te bevestigen.

Vor-Montage-Checkliste:
Bevor Sie mit der Montage beginnen, stellen Sie bitte sicher:
- Alle aufgeführten Teile sind vorhanden und unbeschädigt.
- Melden Sie fehlende Teile innerhalb von 14 Tagen nach Lieferung UND vor der Montage!
- Für die Meldung fehlender Teile wenden Sie sich bitte an den Verkaufspunkt (Geschäft oder Website), an dem Ihr Produkt gekauft wurde.
- Werfen Sie die Verpackung nicht weg, ohne die ordnungsgemäße Funktion des Produkts zu bestätigen.

Liste de contrôle pour le pré-assemblage :
Avant de commencer l'assemblage, veuillez vous assurer que:
- Toutes les pièces énumérées sont fournies et intactes.
- Signalez toute pièce manquante dans les 14 jours suivant la livraison ET avant l'assemblage !
- Pour signaler les pièces manquantes, veuillez contacter le point de vente (magasin ou site web) où votre produit a été acheté.
- Ne jetez pas l'emballage sans avoir confirmé le bon fonctionnement du produit.



1/7

Top rail

Top rail

M4.2*35

Side frame

Side frame

Side frame

Bottom track

M4.2*35 Side frame

Bottom track



2/7

Lock frame

M4.2*45 Screw

Frame cover

Side frame

 EN: Please be aware that, it is possible the side profiles are fully 
assembled upon receipt. 
NL: Houd er rekening mee dat het mogelijk is dat de zijprofielen bij 
ontvangst al volledig gemonteerd zijn.
DE: Bitte beachten Sie, dass die Seitenprofile bei Erhalt möglicher-
weise vollständig montiert sind.
FR: Veuillez noter qu'il est possible que les profilés latéraux soient 
entièrement assemblés à la réception.



3/7

 EN: As shown, use a minimum of 3 M4.2*25 screws per side, to 
mount the whole to the frame. 
NL: Gebruik zoals afgebeeld minimaal 3 M4.2*25 schroeven per 
zijde om het geheel aan de frame te bevestigen.
DE: Verwenden Sie, wie gezeigt, mindestens 3 M4,2*25-Schrauben 
pro Seite, um das Ganze an die Rahmen zu befestigen.
FR: Comme illustré, utilisez au minimum 3 vis M4,2*25 de chaque 
côté pour monter l'ensemble sur le cadre.

Side frame
Top track

Ground

Bottom track

Side frame

M4.2*25

M4.2*25



4/7

Frame
cover

Side frame

Frame
cover

Slide rail

Bottom track

Frame
cover



5/7

Door Lock

Door
Panel

Door
Handle

Door
Handle

Door Lock
Door water
 strip(F)

Door water strip(O)

 EN: To place the glass doors, slide the top 
side into the correct rail of the top profile 
first, then lift, straighten en place on lower 
profile.
NL: Om de glazen deuren te plaatsen 
schuift u eerst de bovenzijde in de juiste 
rail van het bovenprofiel, vervolgens 
optillen, rechtzetten en op het onderpro-
fiel plaatsen.
DE: Um die Glastüren zu platzieren, schie-
ben Sie zuerst die Oberseite in die richtige 
Schiene des oberen Profils, heben Sie sie 
dann an, richten Sie sie gerade aus und 
setzen Sie sie auf das untere Profil.
FR: Pour placer les portes vitrées, faites 
d'abord glisser le côté supérieur dans le rail 
approprié du profilé supérieur, puis soule-
vez, redressez et placez sur le profilé 
inférieur.

Door water
 strip(F)

Door water strip(O)



6/7

Silicone Sealant

Silicone Sealant

Inside

Outside

 EN: To prevent some water ingress you can use 
silicone sealant (only from the inside) of the gaps 
between the profiles, frame and ground.
NL: Om te voorkomen dat er water binnendringt, 
kunt u (alleen van binnenuit) siliconenkit gebrui-
ken in de openingen tussen de profielen, het 
frame en de grond.
DE: Um das Eindringen von Wasser zu verhin-
dern, können Sie die Lücken zwischen Profilen, 
Rahmen und Boden mit Silikon abdichten (nur 
von innen).
FR: Pour empêcher une certaine infiltration 
d'eau, vous pouvez utiliser du mastic silicone 
(uniquement de l'intérieur) sur les espaces entre 
les profilés, le cadre et le sol.



7/7

1

2
Inside

Outside

Outside

Inside



Witvrouwenbergweg 13b
5711 CN, Someren
The Netherlands


